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1. The value of 0 — 50 is
(i) (-49) (ii) (-47) (iii) (-50) (iv) (-52) (v) (-51)

2. Which of the following integers lie between 17 and 217
(i) 22 (ii) 14 (iii)) 16 (iv) 25 (v) 18

Sort the following integers in descending order
-4,754,299 -3,999,352 4,234,308 4,753,088 -1,355,280 -2,958,076

(i) 4,753,088 4,234,308 -1,355,280 -2,958,076 -3,999,352 -4,754,299
(ii) -3,999,352 4,234,308 4,753,088 -2,958,076 -1,355,280 -4,754,299
(iii) -4,754,299 -1,355,280 4,753,088 -2,958,076 -3,999,352 4,234,308

(iv) -2,958,076 4,753,088 -1,355,280 4,234,308 -3,999,352 -4,754,299

4. The value of 0 X 50 X 29 X 38 is
(i) (-2) (ii) O (iii) 1 (iv) 3 (v) (-1)

5. The value of 15 + 6 is
(i) 22 (ii) 18 (iii) 20 (iv) 21 (v) 24

6. Find the difference of the two numbers at the points labelled with letters N and O
N O

(i) (-2) (i) 2 (i) 0 (iv) (-1) (v) (-3)

7. Find the product of the two numbers at the points labelled with letters | and |

L)
r . 1 ¢+ L & 1 I L L1 I I LT =

(i) 117 (i) 119 (iii) 123 (iv) 120 (v) 121

Sort the following numbers in descending order
41 24 31 22 32 38

(i) 24 32 41 22 38 31 (ii) 24 32 22 38 41 31 (iii) 41 31 22 32 38 24 (iv) 41 38 32 31 24 22

(v) 24 41 32 31 38 22

9. Find the sum of the two numbers at the points labelled with letters Sand T
S T

(i) (-6) (i) (-7) (iii) (-8) (iv) (-10) (v) (-4)



10. Thevalueof4 —20—-8 -7 s
(i) (-28) (ii) (-30) (iii) (-34) (iv) (-32) (v) (-31)

Sort the following numbers in ascending order
10 28 11 14 35 34

11.

(i) 34 28 14 35 10 11 (ii) 34 11 35 28 10 14 (iii) 35 14 10 28 11 34 (iv) 10 11 14 28 34 35

(v) 34 11 28 10 35 14

Sort the following integers in descending order
-28,45,983 -26,54,105 36,42,664 11,94,410 24,96,885 11,87,211

12.

(i) 36,42,664 24,96,885 11,94,410 11,87,211 -26,54,105 -28,45,983
(ii) -26,54,105 11,94,410 24,96,885 11,87,211 -28,45,983 36,42,664
(iii) 36,422,664 24,96,885 11,87,211 -26,54,105 11,94,410 -28,45,983
(iv) -28,45,983 36,42,664 11,94,410 11,87,211 -26,54,105 24,96,885
(v) 24,96,885 -28,45,983 36,42,664 11,87,211 11,94,410 -26,54,105

Sort the following integers in ascending order
" 3,863,230 -4,164,365 -1,798,447 -3,670,734 -1,884,211 -959,024

(i) 3,863,230 -959,024 -3,670,734 -1,884,211 -4,164,365 -1,798,447
(ii) -4,164,365 -3,670,734 -1,884,211 -1,798,447 -959,024 3,863,230
(iii) -1,884,211 -959,024 -1,798,447 -4,164,365 3,863,230 -3,670,734
(iv) -4,164,365 -1,798,447 3,863,230 -3,670,734 -959,024 -1,884,211
(v) -4,164,365 -3,670,734 3,863,230 -1,884,211 -959,024 -1,798,447

14. Find the difference between the values of numbers at point A and B

A B
A S I I I I I I I I I R I I o

-5 4 -3 2 41 0o 1 2 3 4 5 6 7T 8 9 10

(i) (-13) (ii) (-10) (iii) (-12) (iv) (-11) (v) (-15)

15. Find the equation representing the following number line diagram

1Tt 1T 171 17 1T T 1T T T T T T T =
10 9 8 - 6 5 4 3 2 41 0 1 2 3 4 35

(i) (-4)=5=(-9) (i) (-6)—8=(-14) (iii) (-5)+7=2 (iv) (-6)+5=(-1) (v) (-7)+5=(-2)

16. The value of 20 — 19 — 12 is
(i) (-13) (i) (-9) (iii) (-10) (iv) (-12) (v) (-11)

17. (27 — 47) + (47 — 22) =
(i) 4 (ii) 7 (i) 2 (iv) 6 (v) 5

18. The value of 0 — 44 — 59 — 56 is
(i) (-158) (ii) (-157) (iii)) (-160) (iv) (-159) (v) (-162)



19.

20.

21.

22.

23.

24.

25.

Sort the following integers in ascending order
6 -12 8 14 15 9

(i) -12 6 8 9 14 15 (ii) 15 8 -12 9 14 6 (iii)) 14 9 -12 6 8 15 (iv) 6 8 14 9 15 -12

(v) 6 -12 14 15 9 8

Find the difference between the values of numbers at point A and B

A B
I I T I I I T I I I I I I I I I e

¢ -9 8 v 6 5 4 3 -2 -1 04 1 2 3 4 5

(i) (-6) (i) (-1) (iii) (-5) (iv) (-4) (v) (-3)

-~

The value of 1 + 4 is
(iy 7 (i) 4 (ii) 5 (iv) 6 (v) 3

15 + =34
(i) 21 (i) 19 (i) 16 (iv) 20 (v) 18

Which of the following is true?

(i) 328 <9 (ii) 859 <185 (iii) 593 <128 (iv) 218 <892 (v) 395> 677

The value of 15+ 8 — 9 + 11 is
(i) 25 (ii) 26 (iii) 22 (iv) 24 (v) 27

Sort the following integers in ascending order
2192918 -3726170 2762385 2163831 -4196723 3229735

(i) -4196723 -3726170 2163831 2192918 2762385 3229735
(if) -4196723 3229735 2192918 2762385 2163831 -3726170
(iii) 2192918 3229735 -4196723 2762385 -3726170 2163831
(iv) -4196723 2163831 2762385 -3726170 3229735 2192918

(v) 2762385 2192918 -3726170 -4196723 3229735 2163831



Assignment Key

1) (iii) 2) (v) 3) (i) 4) (ii) 5) (iv) 6) (iv)
7) (iv) 8) (iv) 9) (ii) 10) (v) 11) (iv) 12) (i)
13) (ii) 14) (iii) 15) (iv) 16) (v) 17) (v) 18) (iv)
19) (i) 20) (iv) 21) (iii) 22) (ii) 23) (iv) 24) (i)
25) (i)
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